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gnuplot > plot x+x**2+log(x)

gobooboobobon

gnuplot > plot "filel"
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’ gnuplot > plot "filel" with line
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’ gnuplot > plot "filel" with line, "file2" with line ‘

’ gnuplot > plot "filel" with line, x+0.5%x**2 ‘
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‘ gnuplot > plot "filel" with line, f(x) ‘
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’ gnuplot > plot "filel" using 1:3 with line ‘
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’ gnuplot > f(x)=a*x+bxx**2
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’ gnuplot > fit f(x) "datal" via a,b
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Final set of parameters 68.3% confidence interval (one at a time)
= 0.5 +/- 2.31063e-16
b = -0.5 +/- 2.7763e-15
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gnuplot > g(x)=a*x+bxx**2

gnuplot > a=3.5
gnuplot > fit g(x) "datal" via a,b
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r OO0y ODO0ODOODOODODOO

x 00000 [-5,+5] OOO set xrange [-5:5]
y 00000 +4.3 00000 set yrange [:4.3]
yooooooooo set logscale y
y Ooooooooo unset loscale y



